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1. IacmopT KOMILIEKTAa KOHTPOJIbHO-OLEHOYHBIX CPeICTB

KontponbsHo-onieHounsie cpeactBa (KOC) nmpenHazHadyeHbl A1 KOHTPOJS U OLICHKH
00pa30BaTeNbHBIX JOCTIKEHUN OOYyYaloIIUXCs, OCBOMBIIMX MpOTrpamMMmy ydeOHOU
mucuiuinabel OI'CI.03 «MHOCTPpaHHBIN A3BIK».

1.1. Cucrema KOHTPOJISI W OLEHKH OCBOCHHMS MPOrpaMMmbl y4eOHOI
AUCHUTLINHBI.

B coorBerctBUM ¢ pabouuM y4yeOHBIM IlaHOM To crnenuaibHoctu CIIO 27.02.05
CucremMbl W cpeacTBa IMCIETYEPCKOro ynpapjiaeHust (GopmMoil MpomMeKyTOUHON
aTTecTaluy 1o y9eOHOW JUCIUILTUHE SIBIsIeTCS AU GEpPCHIIMPOBAHHBIN 3a4eT.

1.2. TpeGoBanus Kk pe3yibTaTaMm 0CBOEHHsI Y4eOHOM JUCIHUILIUHBI
B pe3ynbrare u3ydeHuss M”HOCTPAHHOTO SI3bIKA CTYJAEHT JOJIKEH YMETh:
Y1 - Bectu amanor (Auanor—paccmpoc, IUATIOr—00OMEH MHEHUSMU/CYXKICHUSIMH,

IUANor—Mo0yKIeHUe K JEHCTBUIO, STUKETHBIM JUAJIOT U UX KOMOMHAIIMN) B CUTYalLUsX
o(pUIMaTbHOTO U HEO(UUIHUATBHOTO OOIIEHUS B OBITOBOM, COUMOKYJIBTYPHOU U y4eOHO-
TPYJIOBOH cdepax, UCHOJIb3Ys APTYMEHTALINIO, SMOLIMOHAIEHO-OLIEHOYHBIE CPE/ICTBA.
VY2 - pacckasbiBaTh, pacCy X JaTh B CBSI3M C M3YYCHHON TEMAaTHKOH, MPOOJIEMaTHUKOU
MPOYUTAHHBIX/TIPOCIYLIIAHHBIX TEKCTOB; ONMUCHIBATh COOBITUSA, U3/1araTh (PaKkThl, A€NaTh
COOOLIECHNUS.
VY3 - co3naBath CIOBECHBIN COIMOKYIBTYPHBIN MOPTPET CBOEH CTpaHbl U CTPAHbI/CTPaH
M3y4aeMOro s13blKa Ha OCHOBE Pa3HOOOPA3HOM CTPaHOBEAUECKOH U KyJIbTYPOBEIUECKON
uH(OpMallMy, 3alloJIHATh PA3JIMYHbIE BUIBl AHKET, cOOOLIaTh CBEJIEHUS O cede B
(dbopMe, IPUHATON B CTpaHe/CTpaHaX U3Y4aeMOro S3bIKA.
VY4 - caMOCTOSITENIbHO COBEPIICHCTBOBATh YCTHYIO U NMHCHbMEHHYIO PEUb, MOIMOIHAThH
CJIOBAPHBIN 3amac; YUTaTh ayTEHTHUYHbBIE TEKCThl Pa3HbIX CTUJIEH (MyOIHIIMCTHYECKUE,
XYJ0’)KECTBEHHBIEC, HAYYHO-TIOMYJISIPHbIE U TEXHUYECKHE), UCIOJIb3Ys] OCHOBHBIE BHJIbI
YTeHUs (03HAKOMHTENBbHOE, N3yYalollee, IPOCMOTPOBOE/TIOUCKOBOE) B 3aBUCUMOCTH OT
KOMMYHHMKATUBHOM 3aJ1a4uH.
V5 - noHUMAaTh OTHOCHUTEIBHO MOJHO (OOIIMII CMBICI) BBICKA3bIBAaHUS HA M3yYaeMOM
MHOCTPAHHOM $I3bIKE B PA3IMUHBIX CUTYal[UsX OOILIECHUS;
Y6 - noHMMarb OCHOBHOE COAEpPKAHWE AYTEHTUYHBIX ayJuO- WIM BHIECOTEKCTOB
MO3HABATEJIBHOTO XapakTepa Ha TEeMbl, MpeajiaraeMbleé B pamMKax Kypca, BhIOOPOUYHO
U3BJICKAaTh W3 HUX HEOoOXOoAuMyr0 WH(GOPMAIMIO, OIEHHWBATh BaXXHOCTH/HOBU3HY
uH(pOpMaLnH, ONPeNEsATh CBOE OTHOIIEHHUE K HEH.
VY7 - onuckiBaTh SABJICHUS, COOBITUSA, U3araTh (akThl B MHCbME JINYHOTO U JEJIOBOTO
XapakTepa; IEepeBOJUTh CO CJIOBAPEM MHOCTPAaHHBIE TEKCThl MPO(eCcCHOHANBHOIM
HaIpPaBJIECHHOCTH.
CTyneHT JOJKEH 3HATh:
31 - nekcuueckuit (1200-1400 nexkcMyecKUX €IWHUI) U TPAMMATUYECKHMH MHUHUMYM,
HEOOXOAMMBIA JIJII 4YTEHUS W TepeBoja (CO CJIOBapeM) HWHOCTPAHHBIX TEKCTOB
npodeccuoHanbHON HATPaBIEHHOCTH;
32 - NIMHTBOCTPAHOBEAUYECKYIO, CTPAHOBEAUECKYIO U COLMOKYJIbTYPHYIO HH(GOpPMAIIHIO,
pacIIMpPEeHHYIO 32 CYET HOBOM TeMaTUKU U MPOOJIEeMaTHKU PEUEBOT0 OOIICHNUS;
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33 - TEeKCThl, TIOCTPOEHHBIE Ha SA3BIKOBOM MaTepuaje IOBCEIHEBHOTO U
poeCCHOHATEHOTO OOIIEHUS.

CTyAeHT 10KEeH OBIaAETh OO IMMHU KOMITeTEHIIUSIMH ¢

OK 2. Opranu3oBbIBaTh COOCTBEHHYIO JESATEIBHOCTh, BBHIOMPATh THUIIOBBIE METOIBI U
CHOCOOBI BBITIOJIHEHUSI MPOQPECCHOHATBHBIX 3a/lad, OIEHUBATh UX 3(P(HEKTUBHOCTh U
Ka4yeCTBO.

OK 3. [IpuauMarth perieHus B CTaHJAPTHBIX U HECTAHAAPTHBIX CUTYaIUSX U HECTH 3a
HUX OTBETCTBEHHOCTb.

OK 4. OcyuiecTBiasTh MOUCK M HUCHOJb30BaHUE HH(MOpPMALMK, HEOOXOIMMOHN is
3¢ (HEKTUBHOTO BBINOJHEHUSI NPOPECCHOHATIBHBIX 3a7ad, NPO(ECCHOHAIBHOIO U
JMYHOCTHOI'O Pa3BUTHS.

OK 5. Ucnonp3oBath MH(POPMAIIMOHHO-KOMMYHHUKAIIUOHHbBIE TEXHOJIOTHH B
po(heCCUOHATIBHON e TENBHOCTH.

OK 6. Paborath B KOJUIEKTHMBE W KoMmaHie, 3(P(EKTUBHO OOIIATHCS C KOJUIETaMH,
PYKOBOZICTBOM, TOTPEOUTEISIMHU.

OK 7. bpaTb Ha ce0s1 OTBETCTBEHHOCTb 32 padOTy WICHOB KOMaH/bl (TOJYMHEHHBIX), 3a
pe3yNbTaT BHIIIOJHEHUS 33 JaHUi.

OK 8. CamocTosITensHO OMpEeAenaTh 3agadud Npo(EeCCHOHATBFHOTO W JIMYHOCTHOTO
pa3BUTHsA, 3aHUMAThCSI CaMOOOpa3OBaHWEM, OCO3HAHHO IIJIAaHUPOBATH MOBBIIICHUE
KBaJIM(PUKALIMH.

OKO9. OpueHTrpoBaThCs B YCIOBUSAX YAaCTOM CMEHBI TEXHOJIOTHH B MPO(decCroHaIbHOM
JESITEIbHOCTH.



2. Pe3y.]IbTaTbI O0CBOCHMA TUCHHUILIMHBI, MIOMJICKAIIINE IIPOBEPKE

2.1. B pesynbrare arrecTtani IO Y4YEOHOH JAUCIUILIIMHE OCYIIECTBIISIETCS
KOMILIEKCHAsI MpoBEepKa  CICAYIONIUX yMEHUU 51 3HAHUH.

Pe3yabrarbl 00yueHus OcHOBHBIE IOKA3aTEH dopma KOHTPOJIA U
(ocBOCHHBIE YMEHMS, OLICHKH Pe3y/1bTATOB OLICHUBAHMS
YCBOCHHbIE 3HAHUSA)

Ymerh:

¥Y1. Bectu agumanor (guanor— | Jpamarusaiusi — JAUaJOroB B YO
paccnpoc, TUanor—-oOMeH | paMKax U3y4eHHOU TEeMBI.
MHEHUSMU/CYKACHUSIMHA,  TUAIOT—
noOyxJ1eHue K JIEHCTBHIO,
STUKETHBIN Jianor u ux
KOMOWHAIINH ) B CUTYaIUAX
OQUIMATIBHOTO M HEO(UIUATBHOIO
oO1eHus B OBITOBOH,
COLIMOKYJIBTYpHOH U ydeOHo-
TpynoBoi  cdepax,  HCHONB3YA
apryMeHTalHuIo, AMOIMOHAIIBHO-
OIICHOYHBIE CPEJICTBA.

¥Y2. PacckaswiBaTh, paccyxnarb B | CocTaBieHHE MOHOJOTOB U YO
CBS3M C M3YyYEHHOM TEMAaTUKOW, | COOOILEHUH. 110
poOJIeMaTUKON
MIPOYUTAHHBIX/TIPOCTYIIAHHBIX
TEKCTOB;  OIMCHIBATH  COOBITHS,

H3J1arath (haKThl, JeyaTh

COOOIICHMUS.

Y3. Co3naBaTh cimoBecHbId | CocraBieHue Mpe3eHTAaIUH, YO
COITMOKYJIbTYPHBIA TOPTPET CBOEH | COOOIIEHUN. Brimonnenune 1o
CTpaHbl u CTpaHBI/CTpaH | CAMOCTOSITENIFHOM paboTHl TIO CP
W3y4aeMoOro si3blIka Ha OCHOBE | 3aIOJHEHUIO AHKETHI i

pa3HoOOpa3HON CTPAaHOBETUYECKOW M | HAMMCAHUIO JTMYHOTO MUChMA.
KYJIbTYPOBEIYECKOW WH(OPMAIIHH;
3aMOIHATh PA3IMYHBIE BUIBI AHKET,
coobmare cBeneHuss o cebe B
dbopMe, PUHATON B CTpaHe/CTpaHax
M3y9aeMOTO SI3bIKA.

Y4. CamocrosarensHo | Ilonb3oBanue CJIOBapsIMU, YO
COBEpUIEHCTBOBATh  YCTHYI0O U | pabora B VHTepHeTe mpu 10
NUCBMEHHYIO  PE4Yb, TIONOJHATH | YTEHUM U TEPEBOJE TEKCTOB CP
CJIOBapHBIN 3arac; YUTaTh | pa3HbIX CTHJIEH.

ayTeHTUYHbIE  TEKCTBl  pa3HBIX

cTuien (myOmuuucTHYecKue,

XYJ0’)KECTBEHHBIE, Hay4yHO-

NOMYJSIpHBIE U TEXHUYECKHE),
UCIIOJIb3YSl OCHOBHBIE BUJbI YTECHUS
(0O3HaKOMHUTENBHOE, n3yyvaroliee,
IIPOCMOTPOBOE/TIOUCKOBOE) B
3aBUCUMOCTHU OT KOMMYHI/IKaTHBHOﬁ
3a/1a4H.




¥YS.  Ilonumars
MOJIHO (oOmmii CMBICIIT)
BHICKa3bIBaHUSI  HAa  H3y4aeMOM
WHOCTPAHHOM SI3BIKE B Pa3IUYHBIX
CUTYaIMSIX OOIICHHUSI.

OTHOCHUTCIIBHO

OTBeThl Ha  BOINPOCHl MO
MMPOYUTAHHBIM TCKCTAM.

YO

Ye. ITonumars OCHOBHOE€ | BrlpakeHue cBOEro MHEHUSA U YO
coJlep’KaHUWEe AayTEHTHYHBIX ayJuo- | OTHOIICHHS K MPOYUTAHHBIM H

WA BHUJICOTEKCTOB | MPOCIYIIAaHHBIM  TEKCTaM  C
MO3HABATEJIILHOTO  XapakTepa Ha | UCHOJB30BAaHHUEM PAa3TOBOPHBIX

TEMBI, TIpeJIlaraeMble B paMKaxX | KIJIHIIE.

Kypca, BbIOOPOYHO U3BIEKaTh U3

HUX HEOOXOAUMYI0 WH(OPMAIIHIO,

OLICHUBATD BaXHOCTH/HOBU3HY

uHpOpMaLlUK, ONPEACTATh  CBOE

OTHOILLIEHUE K HEH.

Y7. Yurate u nepeBoauTh co | IIMcbMEHHBIM mEpEeBOA TEKCTOB 1o
CJIOBapeM TEKCTBI | [0 U3y4aeMbIM TEMaM.

npodeccuoHaTbHON

HaIpPaBICHHOCTU

3HaTh:

31 - gekcuueckmii  (1200-1400 | BeImosiHEHHE CaMOCTOSTEIBHBIX 110
JIEKCHYECKUX €/IMHUI) U | ¥ KOHTPOJIbHBIX PadoT. KP
rpaMMaTHICCKUHT MUHUMYM,

HEOOXOMUMBIA Ui  YTEHHUS U

nepeBojia (co cJ0BapeM)

WHOCTPaHHBIX TEKCTOB

pohecCUOHATBHON

HAIPaBICHHOCTH.

32 - JUHTBOCTPAaHOBEIYECKYIO, | BbImonHeHue TECTOBBIX 1O
CTPaHOBEIUECKYIO U | 3aJaHHM, COOOIICHMI IO TeMme, VO
COIIMOKYJIFTYPHYIO ~ WH(POPMAIUIO, | ApaMaTH3aIus JUaJIOrOB. CP
pacIIMpeHHYI0 3a CYeT HOBOWM

TEMaTUKU u pOOJIeMaTHKH

pEeUeBOro OOIICHHUS.

33 - TEKCThl, TOCTPOEHHbIE Ha | BhImogHEHHE CaMOCTOSITEIBHBIX KP
S3BIKOBOM MaTtepuange | ¥ KOHTPOIBHBIX padorT. T3
TIOBCEHEBHOTO " CP

po(hecCHOHAEHOTO OOIIEHUS.

Yci10BHBIE 0003HAYECHU A

YO — ycrubiii otBeT; CP —camocrostenbHas padora; KP — koHTponbHas pabora
T3 — recroBsie 3ananus; IIK — nposepka koHcniekToB 11O — mucbMEHHBIN OIIPOC

.
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3. OneHka 0cBOCHUSI Y4eOHOM TUCIUIIMHBI
3.1. ®opMbI ¥ MeTObl OLIECHUBAHUA

[IpenMeToM OLICHKH CHyKaT yMeHUs W 3HaHus, npeaycmorpeHHeie PI'OC mno
muciuiuinie OI'CD. 03 UHocTpaHHbIi $I3bIK, HampaBjieHHble HAa (HOPMHpPOBaHUE
o01uX 1 MPOoheCCUOHATBHBIX KOMIIETEHIUH.

Ne Tun (Bua) IIpoBepsiembie Kpurepum oueHkun
3a/1aHUA 3HAHHUS M YMEHMA
1. | KonrposnbHas 3HaHue Jexkcuyeckoro u | KoHTposbHas (camocrosTenbHas
(camocTosTENnbHAS rpaMMaTuyecKoro paboTa) cocTouT U3 3-X 3aaHUN
paborta) Mmarepuaia o | «5»- 3 mpaBUIbHBIX OTBETA
MPOMJCHHOW TEME «4» - 2 IpaBUWIbHBIX OTBETA
«3» - 1 mpaBUIIbHBIN OTBET
«2» - HHA OIHOTO WPABUIBHOTO
0TBETa
2. | YcTHBIE OTBETHI 3HaHME JIEKCUYECKOTO M | YCTHBIE  OTBETHl  IPENIOJararoT
rpaMMaTH4eCKOro KOHKPETHBIH OTBET Ha
MaTepualia 1o IPOUIEHHOM | COOTBETCTBYIOIIHM BOIIPOC
TeMe
3. | Tector 3HaHue MaTepuaa 1mo «5» - 86% -100% mnpaBUIBHBIX
MIPOMJCHHON TeMe OTBETOB
«» 70% - 85% mpaBUWIBHBIX
OTBETOB
«3» 51 % -75% npaBUIBHBIX
OTBETOB
«» - 50% wu MeHee TPaBUIIBHBIX
OTBETOB
4. | IlpoBepka YMeHue COCTaBJIATh CootBercTBHE CONEp)KAHUS PaOOTHI
KOHCIIEKTOB, KOHCIIEKT. 3asIBJICHHOMN Teme, paBUIaM
TBOPYECKUX 3HaHue IIpaBUII oopmiieHus
pa0or, oopmienus
Mpe3CHTAINI TBOPUYECKUX pabor,
IIpEe3CHTaLUN.




3.2. TunoBble 321aHUS AJI51 OLEHKH OCBOCHUS Y4eOHOH TUCHUIIMHBI
3.2.1. TunoBble 3aJaHUA I OLEHKH 3HAHMI/yMeHNH (TeKyIIHMii KOHTPOJIb)

1. Padora B napax. Pa3pirpaiite 1uaJior no BbIOpaHHoOi TeMe.

A: Excuse me, you must be Tom.

B: Sorry?

A: You are Tom, aren’t you? You’ve just come from London, haven’t you?

B: Yes, that’s right. ’'m Tom Anderson.

A: Good, and I’'m Ted Royal.

B: How do you do.

A: How do you do. That’s Mrs Royal and our son. Liz, Allan, come and say hello to
Tom.

C: Hello, Tom, did you have a good flight?

B: Oh, yes, very nice, thank you. Hello, Allan.

D: Hello.

A: Come on, Tom, we’ve got the car outside. Liz, did you find a baggage trolley for
Tom?

C: I’m afraid, I didn’t. I couldn’t find one anywhere.

A: Never mind, give me one of your bags, Tom.

B: Oh, thank you Mr Royal.

A: By the way, I hope you don’t mind me calling you Tom?

B: No, of course not.

C: And Ted, don’t you think it would be better if Tom called us by our first names?
A: Yes, of course.”Mr Royal” makes me feel like a grandfather.

2. CocTabTe cO00IIEeHE/MOHOJIOT/TIPE3eHTALIMIO 110 BLIOPAHHOI TeMe.
GREAT BRITAIN

The official name of the country we usually call England is the United Kingdom of
Great Britain and Northern Ireland. The U K is situated on the group of islands lying to
the west of the continent of Europe. The UK consists of England, Scotland, Wales and
Northern Ireland. The total land area of the United Kingdom is 244,000 square
kilometres. The population of the country according to the 2011 census is about
63,182,000. The mountains are in the west and the north of the country. There are
lowlands in the south and the east. Great Britain officially includes England, Scotland
and Wales.

The western coast of Great Britain is washed by the Atlantic Ocean and the Irish
Sea. The eastern coast is washed by the waters of the North Sea. The English Channel,
which is 32 kilometres wide, separates the south-east of Great Britain from France the
narrower part of which is called the Strait of Dover. So Great Britain is surrounded by
water. Not far from the British Isles there is warm Gulf Stream. So, the climate in
Great Britain is generally mild, humid and temperate due to the influence of the Gulf
Stream. This humid and mild climate is good for plants. The trees and flowers begin to
blossom early in spring. In January average temperature is from 3 to 7 degrees below
zero and in July it is from 16-17 degrees above zero.
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British people say: "Other countries have a climate, in England we have
weather." The weather in Britain changes very quickly. One day may be fine and the
next day may be wet. The morning may be warm and the evening may be cool. The
English also say that they have three variants of weather: when it rains in the morning,
when it rains in the afternoon or when it rains all day long. Every daily paper publishes
a weather forecast. Both the radio and television give the weather forecast several
times each day.

There are many rivers in Great Britain but they are not long. The longest of them is
the Thames, which is a little over 200 miles. Britain's principal ports are London,
Liverpool, Manchester, Hull, Glasgow.

The capital city of England is London. The capital city of Scotland is Edinburgh.
The capital city of Wales is Cardiff. Belfast is the capital of Northern Ireland.

The national emblem of England is a red rose. The national emblem of Scotland is a
thistle. The national emblem of Wales of is a daffodil. The national emblem of
Northern Ireland is a shamrock.

Great Britain is not rich in mineral resources, except coal, mined mostly in Wales. But
it is a highly developed country.

The UK is the parliamentary monarchy. Legislative power belongs to her Majesty
Queen Elizabeth 11, and the Parliament, which consists of the House of Commons and
the House of Lords. Officially the Head of the State is the Queen.

3. CaMOCTOSITEJILHO 3aM0JJHATE aHKeTy/ HAITUIIHUTE MACHMO JPYTY.
Specimen of a CV
PERSONAL INFORMATION
Ivan lvanov
198, Zelenaya Street, apt. 85
St Petersburg, 191194, Russia
Phone: +7 812 273 10 50
Date of Birth: 25.08.1972
Marital Status: married
OBJECTIVE
Obtain employment in the field of public relations that will allow me to use my
ability to work with people and take advantage of my knowledge of English.

EDUCATION

St.Petersburg State University

1988-1995 Diploma in English and French. Qualified as English interpreter.
WORK

Assistant, Interpreter of Director General

EXPERIENCE

Insurance Co.Rodina Ros.

April 1995-till now

Duties: schedules of meetings, appointments and recording of the personnel,
interpreting and translation of documents.

January - March 1993
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Personal assistant and secretary to Mr. Ron Black at the office of Operation Carelift.
Mr. Black, a former member of the Pennsylvania House of Representatives
supervised the activities of this NGO in distributing humanitarian assistance in St.
Petersburg. Duties: interviewing and screening Russian organization which applied
for humanitarian assistance, arranging and supervising of deliveries of children's
shoes and boots in St.Petersburg, scheduling of the drivers and Russian personnel.
LANGUAGES

ENGLISH Fluent reading, writing and speaking ability. Qualified as interpreter and
translator. FRENCH Good reading and translating ability. GERMAN Rudimentary
conversation German acquired during several visits to Germany.

OTHER SKILLS HOBBIES & ACTIVITIES

Computers, Microsoft Word and Excel Typing, fax, Xerox. Theatre, music, tourism,
tennis.

REFERENCES

Mrs. Elena Sidorova, Assosiate Mr.Homer Green, Manager

professor St.Petersburg, Anglo-American School

State University 11, US Consulat General

Universitetskaya Nab. St.Petersburg

St.Petersburg Phone: +7 812 325 63 00

Phone: +7 812 298 90 00

4. IlpouuTtaiitTe W 1epeBeAUTEe TEKCT MO MNPOPWIN0 CHEUHATBHOCTH €
HCIOIL30BAHUEM CJI0Baps, BBINOJHUTE JIEKCHYECKHe W TIpaMMaTHYeCKue
3aJlaHMs, UCIIOJIb3YHTE TONOJHUTEIbHbIA MaTepuaJl.

POLYTHENE CABLE

What is polythene? It is thermoplastic material used as insulator, and for many
other purposes in communication industry. Polythene is mostly used in cases where a
chemically-resistant plastic material is needed.

It is a well-known fact that cables are classified as belonging to the main parts in
the modem communication systems. Cables used for communication purposes differ in
length, construction, properties, and, naturally, in their cost. Polythene cables belong to
the type of cables widely used in transmitting electrical energy from area to area, since
polythene is the popular and highly useful insulating material of today.

Polythene cables are comparatively new devices. Their industrial production started
only after World War Il. Since that period they have been widely used in different
spheres of energy transmission throughout the world.

Polythene cables are known to have a number of advantages: they may be used for
both a conductor insulation and a sheath, which makes them one of the most usable
substance in industry. There exist two main types of polythene cables: the one having
polythene insulation for the conductors, and the other having paper insulation. To
these belong lead-sheathed paper-core cables. The number of pairs in different cables
Is also different. Of them the cables including 100 pairs and more have natural
polythene sheaths.

Unlike lead-covered cables, polythene ones can be laid directly in the ground
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without ducts since they are corrosion-proof, while lead-sheathed cables are usually
laid in asbestos-cement ducts since they can be easily corroded. Another advantage of
polythene cables is that they can be used in much longer length than lead-covered
ones. The process of laying cables is known as “long-length cabling”.

OTBeTbTE HA BOIIPOCHI:

1. What is polythene?

2. What do cables differ in?

3. What are the advantages of polythene cables compared with lead- sheathed ones?
4. Why can polythene cables be laid directly in the ground?

5. What are the two main types of polythene cables?

6. How can the cables be laid?

7. What do cables differ in?

IlepeBeaure Ha PyCCKUI A3BIK:
lead-sheathed cables
asbestos-cement ducts
long-length cabling
lead-sheathed paper-core cables
coaxial cables of reduced length
poly- mrHoco- (B CTIOKHBIX CIIOBaX)
air-proof
corrosion-proof
sound-proof

Onuiure TO, YTO BbI BUANTE HA KapTHHKaX Ne 1, 4, 6. McnoJn3yiite the present
continuous (is/are being ...)

Oépasey: The bridge is being painted at the moment.

=

the room / clean
the roof /repair
the houses / KNoCK dOWN  ..ooooovevieeeeeeeeeeeee e

o &
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H3menuTe mnpeaiokeHuss W mocraBbTe B (opmy the past continuous passive
(was/were being). IlepeoOpa3yiiTe mnpenio:keHUsT H3 JeHCTBUTEJIbHOTO B
CTpajaTebHbIN 32J10T:

Someone is cleaning the windows. - The windows are being cleaned by someone.

1. Somebody is using a computer right now/

2. They are building a new ring road round the city.
3. Grandfather is telling the children a funny story.
4. 1think, somebody is following us.

5. OTBeTHTE HA BONMPOCHI K TEKCTY.

RADAR

Radar is classified as means belonging to the sphere of radio communication. The
word RADAR is an abbreviation of the words Radio Detection and Ranging.

Radar as a term is now used to include any system employing microwaves. To them
belong microwaves ranging from 30 cm to 1 mm Radar as a system of communication
is used for locating, identifying, or guiding such moving objects as ships, aircraft,
missiles, or artificial satellites. The radar system consists essentially of a generator, of
electromagnetic radiation the output of which is pulse modulated.

Then the output is fed to a movable aerial where from it is radiated as a beam. The
aerial is rotating continuously when in use. The basic principle of radar is the scanning
of the area by a beam of microwaves and detection of the waves that are reflected from
the object to be located. The time taken for a pulse to travel to the object and back can
be measured. In this way the distance to the object from the transmitter can be
calculated, and its direction can be defined from the detection of the aerial direction.

This technique has been extended to the use of computers, which accept data, apply
logical processes to the data and supply the results of these processes as the
information being sought.

OTBeThTE HA BONMPOCHI:

1. What is the basic principle of radar?

2. What is radar as a system of communication used for?
3. What function does a movable aerial perform?

4. What device was the radar technique extended to?

5. How is modulation defined?

6. What is the meaning of the abbreviation “radar”?

7. What kind of waves does radar employ?

6. IlpoumTaiiTe/mpociaymiaiiTe TeKCT W BbIPa3UTe CBOE OTHOIIEHHME K HeMYy €
HCIO0Jb30BAHUEM KJIHIILIE.

The text is about ...

It covers the problem ...

The benefits of cellphones are ....
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[ think ...

It seems to me ...
In my opinion ...
1 disagree that ...

CELL PHONES

A mobile phone or cell(ular) phone is an electronic telecommunications device with
the same basic capability as a conventional fixed-line telephone, but which is also
entirely portable and is not required to be connected with a wire to the telephone
network. In addition to the standard voice function of a telephone, a mobile phone can
support many additional services such as SMS for text messaging, packet switching for
access to the Internet, and MMS for sending and receiving photos andvideo.

Most current mobilephones connect to a cellular network of base stations (cell sites),
which is in turn interconnected to the public switched telephone network (PSTN) the
exception are satellite phones). Radiophones, using the VHF band, were developed
during the Second World War to provide communications for ships and airplanes.

At the end of the war they were further developed as mobile phones for use by the
emergency services and other services such as taxis. With mobile phone systems, all
communications take place through a central control base station. Mobile units normally
do not communicate directly with other mobile units. They send messages to the control
base station and the base station controller relays the messages to other mobile units.

Although mobile phones can be moved, they must stay within fixed areas. This type
of system is limited by the fact that there are not enough VHF frequencies available for
large numbers of communications between individual users. The problem of a lack of
suitable frequencies can be overcome by using a cellphonenetwork. A cellular phone is
a lightweight, portable radio transceiver which can transmit and receive telephone calls
anywhere in the cellular network area. In the network, the same frequenciescan be used
for many different telephone calls at the same time. To achieve this,
eachcommunications area is devided into a number of hexagonal-shaped cells. Each cell
is allocated a number of frequency channels for communications.

Although thefrequencies used in any one cell are not used in its neighbouring cells,
the same frequencies can beused in cells further away without causing interference. The
size of the cells vary between 1 km to about 30 km across, depending on the output
power of the cellphone transmitters. Each area canhave a different number of cells, but a
cluster of seven cells gives a good compromise between thenumber of frequency
channels available in each cell and the interference between communicationsin different
cells. Each cell has a small electronic base station situated in a public place such as a car
park orshopping centre.

All the base stations for a clustor of cells are permanently connected to a
mainswitching centre (MSC). This contains a computer to select suitable frequencies
and control thecommunications for that cluster of cells. The MSC is also connected to
other MSCs and to the public telephone exchange, allowing cellphones to make calls or
receive calls from other cellphonesand fixed telephones throughout the whole telephone
system. The MSC keeps a register of cellphones indicating their cell position. If the
cellphone movesto another cell, its new position is signalled to the MSC.
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In this way, the MSC knows where to sendsignals to contact each cellphone. When
a call is made to a cellphone, the MSC first checks theregistrations to find the position
of the cellphone. It then pages the cellphone and causes it to tune tothe allocated
frquency channel. The cellphone then begins sending an 8kHz signal to the basestation.

When the user takes the call, the 8kHz signal is discontinued and the speech channel
isenabled. The base station constantly monitors the signal level to a call. If the signal
level becomes toostrong it will cause interference to other users. To prevent this, the
power level of the cellphone isautomatically reduced. If the signal level becomes too
weak, the MSC tests the signal strength fromneighbouring base stations and switches
the call to another base station and speech channel ifnecessary. This may cause a period
of silence of up to about 400 ms while the switching take place.

8. CocTaBbTe TeMAaTHYECKHUH CJIOBAPh K TEKCTY.

NOKIA 700 USER GUIDE
BASIC USE

Use the toolbar
The toolbar at the bottom of the display helps you browse your phone easily.
1. Open the main menu.
2. Make a call.
3. Return to the previous view.
4. Search for applications.
5. Open the options menu.

Touch screen actions

To interact with the user interface, tap or tap and hold the touch screen.

Important: Avoid scratching the touch screen. Never use an actual pen, pencil, or
other sharp object on the touch screen.

Open an application or other screen element

Tap the application or element.

Access functions quickly

Tap and hold the item. A pop-up menu with available options opens.
Example: To send an image or delete an alarm, tap and hold the image or alarm, and
from the pop-up menu, select the appropriate option.

Drag an item
Tap and hold the item, and slide your finger across the screen.

Example: You can drag items on the home screen.

Swipe
Place a finger on the screen, and steadily slide your finger in the desired direction.
Example: To switch to another home screen, swipe left or right.
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To scroll in a list or menu, slide your finger quickly up or down the screen, then lift

your finger. To stop the scrolling, tap the screen.

Zoom in and out

Place two fingers on an item, such as a map, picture, or web page, and slide your
fingers apart or together. A

Tip: You can also tap the item twice. i

9. BpINOJHHTE TECTOBOE 3aJlaHMEe HAa OCHOBE IPOIJAEHHI0 JIEKCHYeCKoro/
rpaMMaTH4YeCKOT0 MaTepuaJa.

1. BoiOepure Hy:xHY10 (popMy HHPUHUTHUBA WIH NPUYACTHSA

We can't help laughing looking at them

a) HE MOXEM HE CMESIThCS

b) He MoXKeM He yapIoaThes

C) HE MOXKEM HE HaCMeXaThCs

2. Boi0epure HyKkHYI0 (popMy HH(PHUHUTHUBA HJIH PUIACTHUSA

They were happy ... in our expedition

a) take part

b) to take part

c) be taking

d) to taken part

3. Boioepure Hy:kHy10 (hopmy nnpuauTuBa Simple Active or Passive:

The letter was ... at once.

a) tosend

b) to sent

c) sended

d) to be sent

4. N3MeHuTe MeCcTOMMEHHE B 00IeM MajesKe HA MeCTOMMeHHe B 00bEKTHBHOM

majaexe:

He made (we) do the work again.

5. OT™MeThTE IPAaBUJIbHBbIE OTBETHI

VYkaxxkutre HOMEpa MpeIOKEHUM, e HEeoOXOJIMMO TMOCTaBUTh yacTuily -10- mepen

WHOUHUTHBOM:

1) I like ... play the piano.

2) They wanted to cross the river.

3) He did want... play in the street.

4) 1shall ...do all.

5) | saw him ... enter the room.

6) She was planning ... do a lot of things yesterday.

7) Do you like ... listen to good music?

8) Her brother can ... speak French.

9) Itistime ... go to bed.

10) May I ... use your telephone?

6. Bbi0epuTe NpaBUJIbLHBIA BAPUAHT NEPEeBOAA MPeII0KEeHUS:
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She heard him open the door.
a) OHa ClIbllIaja, KaKk OH OTIHpPaJ ABEPh
b) oHa ycrbIana ero maru
C) OHa CJIBIIIUT, KaK OH OTKPBIBAET JBEPh
7. Boioepute HyxkHy10 ¢popmy nnpunutusa Simple Active or Passive:
Mother was too tired to ... supper
a) to cook
b) to be cook
C) to be cooked
d) to be cooking
8. BoiOepure npaBWIbHbIM BAPUMAHT NEePeBOIa MPeaI0KeHMsI:
He made us do the work again.
a) OH MOMPOCHUJI HAC clieTaTh padoTy
b) oH 3acTaBuiI HAC clienath paboOTy CHOBA
C) OH 3aCTaBJISIET HAC caeNaTh padOTy CHOBA
9. U3MeHnTEe MeCTOMMEHHE B 00IIeM Majiexke HA MeCTOMMEHHE B 00bEeKTHBHOM
najaesxe:
I would like (you) to offer Pete your help.
10. Boi0epuTe npaBUJIbHbIN BAPUAHT MEePeBOia NPEAJIOKeHHS:
I would like you to offer Pete your help.
a) MHe OBl XOTeI0Ch MoMoub [leTpy
b) mue HpaBuTCs Momorats [leTpy
C) MHE ObI XOTEJIOCh, YTOOBI BbI IIpeIoKWwIn [leTpy cBOrO mOMOIIh
11. BoiOepute HYykHYI0 GopMy HHPHUHUTHBA WIH NPHUYACTHA:
He made me ... it.
a) did
b) do
c)todo
d) doing
12. U3meHuTEe MeCTOMMEHHE B 001eM Iaje:ke HA MeCTOUMEeHHe B 00beKTUBHOM
najaesxe:
Let (he) smoke here.
13. BoiGepure Hy:kHYI0 (popmy nnpunutuBa Simple Active or Passive:
He was the first ... to the finish.
a) to came
b) to come
C) to be come
d) to have been come
14. Boi0epute HY)kHYI0 GopMy HHPUHUTHBA WIHA NPUYACTHA:
It's very different ... a car in a big city
a) driven
b) drove
Cc) to be driven
d) to drive
15. BoiGepure Hy:kHYI0 (popmy nnpunutuBa Simple Active or Passive:
They were happy ... at home.
17



a) to leave
b) to be leave
C) to be left
d) to leaving
16. BoiGepure Hy:kHYI0 (popmy nnpunutuBa Simple Active or Passive:
| have come here to ... to you.
a) to be talked
b) to talk
c) to talked
d) to be talking
17. BoioepuTe Hy:XHY10 GopMy MHPUHUTHUBA WJIH MPUIACTHUS:
Would you like me ... now?
a) read
b) to read
c) to reading
18. Boi0epure HYKHYI0 GOopMYy HHPUHUTHBA WU NPHUYACTUA
| let him ... late
a) go
b) going
c) went
d) togo
19. U3MeHnnTe MeCcTOMMEHHE B 00IIEeM Majeke HA MeCTOMMEeHHE B O0beKTHOM
najesxe:
I want (he) to go to food fair.
20. 3menuTe MecTOMMeHHEe B 0O0IIeM Maje:ke HA MeCTOMMEHHEe B 00bEKTHOM
najesxe:
He would like (she) to play with him.
21. BeiOepure npaBU/IbHBIN BAPUAHT NePEBOAA NPEIJI0KeHHS:
We expect him to sign the contract on Monday.
a) MBI paCCUUTHIBAEM MOAMUCATH KOHTPAKT B MOHEIETbHUK
b) MBI XOTUM, YTOOBI OH MOJAMKCAT KOHTPAKT B MOHEICIbHUK
C) MBI 0XKHJIAE€M, YTO OH MOJIMHUIIET KOHTPAKT B MOHEIECTBHUK
22. U3veHuTe MecTOMMEHHMEe B 00IIeM IMajexe Ma MeCTOMMEHHE B O00bEeKTHOM
najgexe:
We expect (he) to do It.
23. BriOepure Hy:kHYI0 (popMy HHPUHUTHBA UM NPUIACTHS
The child wanted ... seriously
a) to be taken
b) to take
C) to took
d) to be take
24. U3MeHuTe MeCTOMMEHHE B OOIIEM Iaaexe HA MEeCTOHMEHHEe B 00bEKTHOM
najexe:
Let (we) read.
25. 3meHnTe MeCTOMMEHHE B 00IIeM Maje:ke HA MeCTOMMeHHEe B 00beKTHOM
najgexe:
18



Bad weather made (they) return home.

26. Boi0epuTe NpaBUJIbLHBIN BAPHAHT MEPeBOJA NMPeIIoKeHUs:
They would like us to learn English.

a) UM HPABUTHCS YUUTh aHTJIUHACKHIA

D) onm xoTenu ObI, YTOOBI MBI YUHIIN aHTJIUHCKUI

C) OHHU JIFOOSIT YUYUTh HAC aHTJIMHCKOMY

27. Bpl0epuTe NpaBUILHBINA BAPUAHT MEPEBOAA MPeEII0KECHUSA:
Let him smoke.

a) MyCTb OH KypHUT

b) mycTh OHa KypUT

C) 3aCTaBbTE €r0 KypUTh

28. BoiOepure npaBWJIbHbIA BAPUAHT NMEPEBOIA MPeaI0KeHns:
She saw the postman climbing up the stairs.

a) OHa BHJIENA [TOYTAIbOHA

b) ona BHjena, Kak MOYTATHOH ITOHUMAIICS IO JICCTHHIIC
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4. KOHTpPOJIb ¥ OLIEHKA OCBOCHUSA Y4eOHOH IMCUUIIIMHBI 10 TeMaM

DJIeMeHT Y4eOHOM I1CUMILIUHbI

Texymuii KOHTPOJIb

®opma KOHTPOJIA

IIpoBepsiembie
OK,V,3

Pa3nes 1. BBonHO-KOppEeKTHBHBII Kypc

Tema 1.1. Dopmbl oOpareHusl.
IIpuBercTBus. PedeBoil stuker. JInuHele,
MIPUTSKATEIbHBIE MECTOUMEHMS, TJIArOJIbl
to be, to have.

YcTHbIl onpoc
[TncebMeHHBIH Onpoc

OK4, OKe6, V2,V3

Paznen 2. CTpaHa u3y4yaeMoro si3bika
Tema 2.1. T'eorpaduueckoe MoJOKEHHE | YCTHBIN OMPOC OK4, OK6, ¥2, V3
CTpaHbl M3y4yaemoro s3blka. Present | ITucemeHHsll onpoc
Simple.

Tema 2.2. Cronuna cTpaHbl U3y4aeMOro
s3pika. Past Simple.

YeTHBIM o1poc
ITuceMeHHBIN onpoc

OK4, OK6, ¥2,V3,V5

Tema 2.3
OKOHOMHKA CTPAaHbl H3YYAa€MOI'0 s3bIKa.
Future Simple.

YeTHBIM o1poc
[TucbMeHHBIH onpoc
CamocTrosTenbHas padboTa

OK4, OK6, V2,V¥3,V5,33

Paznea 3.

JenoBasi moe3ka 3a pyoex

Tema 3.1. B asponopry. Ha Bok3aie.
Present Simple Passive.

YeTHBIM o1poc
ITuceMeHHBIN onpoc

OK4, OK6, ¥2,V3,V5

Tema 3.2. Ha tamosxxnue. Past Simple
Passive.

YcTHBIN O1IpOC
[TuceMeHHBII ompoc
CamocTrosTenbHas padboTa

OK4, OKe6, V2,V3,V5

Tema 3.3. B rocrunnue. [loaroroska x
3a4ery.

YeTHBIM o1poc
ITuceMeHnHBIN onpoc
IIpoBepKa KOHCIIEKTOB

OK4, OK6, V2, V¥3,V5,33

ITpomekyTOYHAA aTTEeCTALMSA
KonTponbhas padota 33
ATtTtecTanus V4, VY5

Pa3ges 4. DieKTpoTeXHUKA

Tema 4.1
Yucna ©W MaTeMaTUYECKUE IEeHMCTBUA.
3axkon Oma. Present Continuous Tense

YcTHBIN o1Ipoc
[TnceMeHHBI Onpoc

OK4, OK6, V2,3

Tema 4.2

YeTHBIM o1poc

OK4, OK6, V2, V3, V5

HOCJ’ICI[OBaT CJIBHBIC nu napaJijiCJIbHBIC [IuceMeHHbII o1poc

nernu. Past Continuous Tense.

Tema 4.3 YcTHBI onpoc OK4, OK6, V2, V3, V5
BJICKTpI/I‘leCKI/Ie HU3MCPHUTCIIbHBIC [IuceMeHHbII o1poc

npubopsl. Future Continuous Tense.

Tema 4.4
Pesucropsl. Present Perfect.

YcTHBIN onpoc
ITrceMeHHBIN onpoc

OK4, OKe6, V2, V3, V5

Tema 4.5
Dnexkrpuueckue 3aeMenTsl. Past Perfect.

YCTHBIN O1poc
ITrcbMeHHBII Onpoc

OK4, OK6, V2, V3, V5

Tema 4.6
Konnencaropsr. Future Perfect.

YCTHBIN O1poc
[TrucerMeHHBII onpoc
CamocrosTenbHas pabora

OK4, OK6, V2, V3, V5

Tema 4.7
[TpoBognuku u n3onaTopsl. [loaroroska k

VYeTHBIM o1poc
IIrncbMeHHBIN OIpocC

OK4, OK6, V2, V3, V5
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3a4ery. IIpoBepka KOHCIIEKTOB \
IIpomesxyToUyHAsI aTTECTANMS
KontponbHas padota 33
JuddepeHurpoBaHHbIi 3a4eT Y4,V5
Pa3nen 5. Coopy:xeHue cBsI3H
Tema 5.1 YeTHbIi onpoc OK4, OK6, V2, V3, V5

Kommynukanuu. CrpaaareabHblii  3aj10T
Bpemen Simple.

[TuceMenHsIi onpoc

Tema 5.2
Jluaun nepenad. CrpamaresbHbBIA 3aJ10T
Bpemen Continuous.

VYeTHbll onipoc
[TuceMenHsIM onpoc

OK4, OKe6, V2, V3, V5

Tema 5.3
Kabenmu. CrpanarenbHbIi 3aJI0T BPEMEH
Perfect.

YeTHbIM onpoc
[TuceMenHsIi onpoc

OK4, OK6, V2, Y3, V5

Tema 5.4
KoMIibroTepHbIe CUCTEMBI.
[ToaroTroBka K KOHTPOJIBHOU paboTe.

YeTHBIM o1poc
[TrucbMeHHbIH onpoc
IIpoBepKka KOHCIIEKTOB

OK4, OK6, V2, Y3, V5

IIpomesxkyTOUHAas1 aTTeCTAIUS
KonTponbhas padbora 33
ATTrectanus V4, V5

Pasznea 6.

NudpopmannoHHas cBs3b

Tema 6.1
Tenekommynukanus. [lpuyacrue |.

YcTHBIN O1IpOC
ITrcbMeHHBII Onpoc

OK4, OKe6, V2, V3, V5

Tema 6.2
Tenerpad. [puyactue 1.

YcTHBIN O1IpOC
[TuceMenHsIM onpoc

OK4, OKe6, V2, V3, V5

Tema 6.3 Panuonepenaruuk.
Paguonpuemuuk. [IpruactHbie 000POTHI.

YeTHBIN onpoc
IIucbMeHHBIN OTpoC

OK4, OK6, V2, V3, V5

Tema 6.4
Antennbl. Panuonomexu. Pagap.
CI105KHO€ OTIOJHEHHE.

YeTHBIM onpoc
IIucbMeHHBIN OTpoC

OK4, OK6, V2, V3, V5

Tema 6.5
WuTepuer. CiaoxHoe Mmojjesxaliee.

YCTHBIN 0IIpoc
ITrcbMeHHBII Onpoc

OK4, OK6, V2, V3, V5

Tema 6.6
JlokanpHas cetb. M3epHer.
WNudunutus. [logroroBka K 3a4ery.

YcTHBIN o1Ipoc
[TnceMeHHBI Onpoc
CamocrosrenbHas paboTta
IIpoBepka KOHCIIEKTOB

OK4, OKe6, V2, V3, V5

IIpome:xxyTOUYHas

arrecranus

KonTponbhas pabota
JuddepeHurpoBaHHbli 3a4eT

33
Y4, V5

Paszpen 7. Teaedonus

Tema 7.1
Tenedonusi. Ynorpebnenne wHUHUTHBA
0e3 gacTtuirsl to.

YCTHBIN 0IIpoc
[TnceMeHHBI Onpoc

OK4, OKe6, V2, V3, V5

Tema 7.2
Pamunorenedonsr.®opmbl  nHPUHUTHBA B
IIaCCHUBHOM 3aJI0T€E.

VYeTHBIM ompoc
IInceMeHHBII OIpoc

OK4, OKe6, V2, V3, V5

Tema 7.3

CTaHIlapTHBIC TCXHOJOT'MH JJIA

MOOWJIBHBIX TEJIE(POHOB.

VYeTHBIM o1poc
IInceMeHHBII Onpoc
CamocTrosTenbHas paboTa

OK4, OK6, V2, V¥3,V5,33
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OcobeHHOCTH YyHOTPEOICHUS TePYH/IHS.

Tema 7.4
HHCTpyKIIMU K MOOMIIBHBIM TeeoHaM.

VYcTHbIM onpoc
[InceMeHHBII OIpoc
IIpoBepka KOHCIIEKTOB

OK4, OKe6, V2, V3, V5

Pa3nes 8. KomnbloTepHoe nporpaMMHpoBaHne

Tema 8.1
[TporpammHoe obecnieueHue.
NHpUHUTHB U TepyHAMI.

YeTHbIl onpoc
[TncebMeHHBI OIpoc

OK4, OKe6, V2, V3, V5

Tema 8.2
OnepalinOHHBIE CUCTEMBI.
OcobeHHOCTH yMOTpPEOJICHHUS TePYHIUS U

YcTHbIl onpoc
[TnceMeHHBI OIpoc

OK4, OKe6, V2, V3, V5

WHOUHUTHUBA.
Tema 8.3 YcTHbIl onipoc OK4, OK6, V2, V3, V5
O06paboTka JaHHBIX. ITuceMeHHBIH onpoc

[ToBTOpEHME MPOIAEHHOTO MaTepUaa.

ITpoBepKka KOHCIIEKTOB

IIpome:xxyTOouHast

arrecranusd

KonTponbhas padbora
JuddepennmpoBanHblii 3a4eT

33
Y4,¥5

22




[Ipunoxenue 1

5. 3amanus AJ151 OLEHKH OCBOEHUS AUCHUIITHHBI
(MpoMeKyTOYHAS ATTECTAIUA)

KonTtpoabHblie 3aganus K 1u¢depeHIUPOBAHHOMY 3a4eTy
Il kype

Bapuanrt 1
1. IIpouTHTE TEKCT U OTBETHTE HA CJIEAYIONIHE BOMPOCHI:
1. What is a resistor used for?
2. When does the temperature of a resistor rise?
3. What element is used to change the value of voltage?
4. What types of resistors do you know?
5. What does an open resistor result in?
6. What is the difference between a fixed resistor and a variable resistor?
7. What resistors have a variable value?

Resistors

A resistor is one of the most common elements of any circuit. Resistors are

used:
1. to reduce the value of current in the circuit;
2. to produce IR voltage drop and in this way to change the value ofthe voltage.

When current is passing through a resistor its temperature rises high. The higher
the value of current the higher is the temperature of a resistor.

Each resistor has a maximum temperature to which it may be heated without a trouble.
If the temperature rises higher the resistor gets open and opens the circuit.

Resistors are rated in watts. The watt is the rate at which electric energy is
supplied when a current of one ampere is passing at a potential difference of one volt.
A resistor is rated as a 1-W resistor if its resistance equals 1,000,000 ohms and its
current-carrying capacity equals 1/1,000,000 amp, since P = ExI = IRxI = I2R where P
- power is given in watts, R - resistance is given in ohms and | - current is given in
amperes.

If a resistor has a resistance of only 2 ohms but its current-carrying capacity
equals 2,000 amp, it is rated as a 8,000,000-W resistor.

Some resistors have a constant value - these are fixed resistors, the value of
other resistors may be varied - these are variable resistors.

2. CoBMecTHTE CJI0BA M3 JIEBOIl KOJOHKH ¢ UX MIEPEeBOJI0OM U3 NPABOIi:

capacity CKOPOCTb, CTCIICHb
power IIPOM3BOIUTH

heat EMKOCTb

rate BapbUPOBaTH(CsI)
to produce MOIIHOCTb

to change TEIUIOTa, HarPeB
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to vary BBICOKMH
low MEHSTH(Cs1)
high MTOCTOSTHHBIN
fixed IICPEMEHHBII
variable HU3KUH

— B~ W
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. IlepeBeaure B nucbMeHHOi (popMme ad3anbl 1,2,3.
. 3aKOHYMTE NpeNJI0KeHNsl, BLIOPAB NPABUJILHbIN BAPUAHT:
. A resistor is used

a) to measure the resistance.
b) to reduce the current.

C) to change the resistance.

d) to produce IR voltage drop.

. When current passes through a resistor

a) its temperature drops.
b) its temperature rises

. Resistors are rated

a) in ohms.
b) in volts.
C) in watts.

. Power is given

a) in amperes.
b) in watts.

. Fixed resistors have

a) a constant value.
b) a variable value.

. The value of a variable resistor

a) is fixed.
b) is varied.

. The higher the value of current,

a) the lower is the temperature of a resistor.
b) the higher is the temperature of a resistor.

. IlocraBbTenpenioxkenus B Present Perfect:

She............. (just break) a vase.
We.....coen. (already clean) the room.
[T (just make) the bed.
He............ (phone) his friend.

| ST (start) raining.

A little girl........... (cut) her finger.
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Yto ob603HauaeT -'S— (has uiu iS)? Hanuiu npeasio:kenus 6e3 COKpameHmii:
She'sgonetotheshop.

She's very angry.

| think Emily's right.

He's lived here for ten years.

He's always hungry.

What's happened?

ok wWwhE O

Bapuant II

. IIpoyTHTE TEKCT U OTBETHTE HA CJCAYIOUIME BOMPOCHI:

What is a capacitor used for?

What are the main parts of a capacitor?

What is the function of insulators?

What does the capacity of a capacitor depend on?

What is the difference between a fixed capacitor and a variable one?
6 What should be done in order to change a capacitor?

agbrwONE=

Capacitors

A capacitor is one of the main elements of a circuit. It is used to store electric
energy. A capacitor stores electric energy provided that a voltage source is applied to
it.

The main parts of a capacitor are metal plates and insulators. The function of
insulators is to isolate the metal plates and in this way to prevent a short.

In the diagram one can see two common types of capacitors in use nowadays: a
fixed capacitor and a variable one. The plates of a fixed capacitor cannot be moved; for
this reason its capacity does not change. The plates of a variable capacitor move; its
capacity changes. The greater the distance between the plates, the less is the capacity
of a capacitor. Variable capacitors are commonly used by radiomen; their function is to
vary the frequency in the circuit. Fixed capacitors are used in telephone and radio
work.

Fixed capacitors have insulators produced of paper, ceramics and other
materials; variable capacitors have air insulators. Paper capacitors are commonly used
in radio and electronics; their advantage is their high capacity: it may be higher than
1,000 picofarad.

Besides, electrolyte capacitors are highly in use. They also have a very high
capacity: it varies from 0.5 to 2,000 microfarad. Their disadvantage is that they
change their capacity when the temperature changes. They can operate without a
change only at temperatures not fewer than -40°C.

Common troubles in capacitors are an open and a short. A capacitor stops
operating and does not store energy in case it has a trouble. A capacitor with a trouble
should be substituted by a new one.

2. CoBMecTHTE CJI0BA M3 JIEBOI KOJIOHKH ¢ MX MIEPEBOJIOM U3 NIPABOIi:

capacitor 4acToTa
insulator IPEUMYIIIECTBO
frequency HEJIOCTATOK
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distance npujaraTh, IPUMEHSTh
advantage JIBUTATH(Cs)
disadvantage KOHJICHCATOD

plate IpUYHHA

to apply paccTosHue

to move U30JISITOP

to prevent aHoJ1 (J1aMIIBI)

reason peI0TBpAIATh
providedthat IIPY YCIOBUU YTO

3. IlepeBeauTe B nuchbMeHHOM popme ad3annl 1,2,3.
4. 3aKOoHYHUTE NMPeI0KeHUs, BLIOPAB NPABUJIbHBII BAPUAHT:
1. A capacitor is used

a) to supply voltage.

b) to increase the voltage output.

C) to store energy.

2. The main parts of a capacitor are
a) insulators only.
b) metal plates only.
¢) metal plates and insulators between them.

3. The function of insulators is
a) to store energy.
b) to isolate the metal plates.
C) to prevent a short between the metal plates.

4. The capacity of a capacitor depends on
a) the size of the plates.
b) the distance between the plates.
¢) the material of the insulators.

5. The capacity of a fixed capacitor
a) is constant.
b) is varied.

6. The plates of a variable capacitor
a) can be moved.
b) cannot be moved.

7. Electrolyte capacitors have

a) a very low capacity.
b) a very high capacity.
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8. In case a capacitor has a trouble
a) it operates.
b) it stops operating.

5. PackpoiiTe cko0KHU, mocTaBuB rJarojbl B PastPerfect:
Obpazey: Mr And Mrs Davis were in an airplane.
They were very nervous as the plane took off because they had never flown
before (fly).
My best friend, Kevin, was no longer there. He ... (go) away.
The local cinema was no longer open. It ... (close) down.
Mr Johnson was no longer alive. He ... (die).
| didn't recognize Mrs Johnson. She ... (change) a lot.
Bill no longer had his car. He ... (sell) it.
The woman was a complete stranger to me. | ... (see) before.

ok owdE

6. PackpoiiTecko0ku, ynorpedJasisiriaroniB Past Simple uim Past Perfect:
1. Tom (to return) from the cinema at five o'clock.

2. Tom (to return) from the cinema by five o'clock.

3. | (to finish) my homework at seven o'clock.

4. 1 (to finish) my homework by seven o'clock.

5. He (to think) that he (to lose) the money.

6. Ann (to tell) me that she (to see) an interesting film.

KontpouabHble 3a1anus K 1udgepeHIIUPOBAHHOMY 3a4€Ty
11 xype

Bapuant I
. HpO‘lTl/ITe TEKCT M1 OTBETHTEC Ha CJICAYIOIIHUE BOIIPOCHI:
By what means is electric power system transmitted?
Which system has no parallel branches?
Into what groups are all the transmitting lines classed?
What components does an overhead line have?
What elements do conductors consist of?
In what areas are overhead (underground) lines used?

U A WN P =

Transmission Lines

A power system is an interconnection of electric power stations by high voltage
power transmission lines. Nowadays the electricity is transmitted over long distances
and the length of transmitting power lines varies from area to area.

A wire system is termed a power line in case it has no parallel branches and a
power network in case it has parallel branches.

According to their functions, power lines and networks are subdivided into
transmission and distribution lines.

Transmission lines serve to deliver power from a station to distribution centres.
Distribution lines deliver power from distribution centres to the loads.

Lines are also classed into: 1) overhead; 2) indoor; 3), cable (underground).
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Overhead lines include line conductors, insulators, and supports. The conductors
are connected to the insulators, and these are connected to the supports. The greater the
resistance, the higher are the heating losses in the conducting wires. In order to reduce
the losses, a step-down transformer can be used.

Indoor lines include conductors, cords, and buses. The conductor may include
one wire or a combination of wires not insulated from one another. They deliver
electric current to the consumers.

As to underground lines, they are used in city areas. Accordingly, they are used
In cities and towns, and in the areas of industrial enterprises.

2.CoBMecTHTE CJ10BA U3 JIEBOH KOJOHKH € HX NEPEBOAOM M3 NIPABOM:

area Maura

distance IPOBO/T

network IMHA

support pacnpenensiTh

cord CeTh JICKTPOJIHMHUI ommopa
bus JUTMHAJIMHUITIepe1adun
enterprise TLIOMIA/Th, 00JTACTh
Todivide paccTosiHue

to distribute noTpeOICHUEIHEPTUU

long distance JICITUTh, Pa3ICsaTh

length of transmission lines IPEITPHUSITHE

power consumption pacnpeieIUTeIbHBIAIICHTD
distribution centre paloHTOPOJICKON3aCTPONKH
city area 00JIBIIIOCPACCTOSIHHE

3. IlepeBeaure B nucbMeHHOH ¢opme ad3anbl 1,2,3.
4. 3aKOHYHUTE NpPelI0OKeHUs, BLIOPAB NPABUJIbHbII BAPUAHT:

1. Electric power is transmitted
a) by electric lines.
b) by power networks.

2. Lines are divided into
a) overhead and underground.
b) overhead, indoor and underground

3. An overhead line includes
a) conductors and supports
b) conductors, insulators and supports

4. The insulators are connected
a) to the buses.
b) to the supports

5. Conductors consist of
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6.

a) bare wire.
b) insulated wire

Underground lines are used
a) in cities.

b) in areas of enterprises.
c) inagriculturalareas.

. BcraBbTe yactuny to rae 3To He00X0aAUMO:

. I like ... play the guitar.

. My brother can ... speak French.

. We had ... put on our overcoats because it was cold.
. They wanted ... cross the river.

. It is high time for you ... go to bed.

. May I ... use your, telephone?

. They heard the girl ... cry out with joy.

3amMeHurTe BBIACJICHHBIC YaCTH HpeI[J]O)KeHI/II/I I/IH(l)I/IHI/ITI/IBHLIMH OﬁOpOTaMI/I

Obpasey: The boy had many toys which he could play with.

WM

The boy had many toys to play with.

1. I have no books which I can read.

2. Is there anybody who will help you with your spelling?

3. Don’t forget that she has a baby which she must take care of.
4,
5
6
7

Have you got nothing that you want to say on this subject?

. There was nothing that he could do except go home.
. | have only a few minutes in which | can explain these words to you.
. I have an examination which | must take soon, so I can’t go the theatre with you

Bapuanr |1

. HpO‘lTl/ITe TEKCT M OTBETHTEC Ha CJICAYIOIIUE BOIIPOCHI:
. What is terminal?

. What telecommunication devices do you know?

. Give the definition of teletype and telemeter.

Telecommunication

Terminal is an input or output device connected to a computer. Among other
devices connected to a computer, there may be a line printer, a punched- card-reader, a

teletype, or a visual display unit.

Telecommunication is the telegraphic or telephonic communication of signals,
Images, or sounds performed by wire, radio, optical, or other electromagnetic systems.
Among the devices widely used today there are teletypes, teleprinters, telemeters and

many others.

Teletype is a printing telegraph system. One of the definitions of a modem teletype
Is a computer terminal. It includes a device like a typewriter which is combined with a

paper-tape reader and a punch.
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Telemeter is a device that records physical events at a certain distance. For
example, it may be an instrument in an artificial satellite which transmits information
received in space back to Earth by radio.

2.CoBMecTHTE CJ10BA U3 JIEBOH KOJIOHKH € UX NMEPEeBOA0M M3 NPABOIi:

to image poOUBaTh, MepPOPUPOBATH
event 1eyararhb

tosound rieyaTaTh Ha MaITUHKE

to print COOBITHE

totype N300pakaTh

topunch 3By4YaTh

tape buznyeckoe coobITHE
physicalevent KJIEMMa, BBIBOJI, KOHEIL]
image frequency HUIIYIIass MalTuHKa
terminal 3BYKOBasIOHEPTUs

sound energy 00OMOTOYHAsI MPOBOJIOKA
typewriter JICHTa, TeyerpadHas JeHTa
tapingwire JaCTOTaKaIPOB

terminal station KOHEYHAs CTaHIHA

3. IlepeBeanre B mnucbMeHHOl ¢gopme ad3anbI 1,2,3.

4. BbInoJIHATE yIIPaKHEHHeE 10 00pa3ny, nepeBeauTe CJI0BAa HA PYCCKUM A3BIK:
Obpasey: 10 print — neuamames

print — omneuamox

to punch —
punch —

to sound —
sound —

to image —
image —

5. [lepeBequTEHAPYCCKUHA3BIK:

1. Everybody expected her to marry Nick.

2. | would-like them to come as soon as possible.
3. | expect you tojoin us.

4. | don't want to see you in this company

5. We would like you to visit us.

6. | hate you to play the piano.

7. My mother wants me to study better.

6. [lepedpazupyiiTenpenio:keHUsINOOOPa3Yy:
Obpaszey.  The boy was playing football in the yard (see).
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We saw the boy play football in the yard.

. They came back at once (make).

. You must do it yourself (want).

. The boy said something in a low voice (hear).

. She is waiting for Mary (believe).

. He is a very talented actor (know).

. My son is going to become a surgeon (want).

. The girl was singing a very lovely song (hear).

~No ok, WwN R

KonrtpoabHblie 3aganus k AuddepeHunpoBaHHOMY 3a4eTy
IV kypc

Bapuanr I
. IIpoyTHTE TEKCT U OTBETHTE HA CJCAYIOUIME BONPOCHI:
. Do wireless telephones have any connections?
. Where can cordless devices be employed?
. Into what element are they plugged?
. How large may be serving regions of cellular telephones?

. What can you say about the weight of portable cellular systems?

CORDLESS TELEPHONES
Cordless telephones are devices that are employed mostly within a home or
office. Cordless telephones have a very limited mobility — up to a hundred metres.
They essentially serve as a wireless extension to the wiring that exists in a home or
office because they are plugged directly into the existing telephone jack. Cordless
telephones operate over a pair of frequencies in the 46- and 48-megahertz bands or
over a single frequency in the 902—928-megahertz band.
CELLULAR TELEPHONES

Cellular telephones are transportable by vehicle or personally portable devices that
may be used in motor vehicles or by people.

Cellular telephones communicate by radiowave in the 800-900-megahertz band.
They allow a great degree of mobility within a service region thatmay occupy
hundreds of square kilometres in area. It should be noted that all communication with a
mobile or portable device within a given cell is made to the base station that serves the
cell. Because of the low transmitting power of battery-operated portable devices,
specific sending and receiving frequencies of a cell may be reused in other cells within
larger geographic areas. Thus, the spectral efficiency of a cellular system is increased
by a factor equal to the number of times a frequency may be reused within its service
area.

It is interesting to note that the first mobile and portable cellular systems were
huge and heavy. But because of the progress in component technology, their weight
and size were considerably decreased. For example, the weight of light portables in
1990 was equal to 310 grams. By 1994 their weight was reduced and became equal to
120 grams. The weight of one of the models of cellular telephones produced in Russia
— Motorola 70V — is only 81 grams!

Ol B WN P -
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2. CoBMecTHTE CJI0BA U3 JIEBOI KOJOHKH ¢ MX NEPEBOIOM M3 NIPABOIi:

cell IPOBOJI, ITHYP

cellular THE3/10

nevertheless IITENCEND, ITENCETbHAs BUJIKA
jack stuercTast (COToBast) CTPYKTypa
plug switch siueiika, KieTKa

cord COTOBBIN; KJIETOYHBIN

extended aerial

YJINYHOC OCBCUICHHC

cellular structure

paCcIMpCHHOCBOCIIPOU3BCICHNC

plug yIJTMHEHHAsIaHTEHHA
expanded reproduction IITETICEIbHBIHBBIKIIOYATEIIb
public lighting TEM HE MEHEe

. | like ... play the guitar.

~NOoO oIk wWNDE AW

5. 3aMeHuUTe BblIeJIeHHbIE YACTH MpPeNJI0KeHniH MHPUHUTUBHBIMUA 000POTAMM:

. My brother can ... speak French.

. We had ... put on our overcoats because it was cold.
. They wanted ... cross the river.

. It is high time for you ... go to bed.

. May I ... use your, telephone?

. They heard the girl ... cry out with joy.

. ITepeBenurte B nucbMeHHoi ¢gopme ad3aunsni 1,2,3.
. BecraBbTe yacTuny 10 rjae 310 HE00X0AMMO:

Oobpaszey: The boy had many toys which he could play with.

The boy had many toys to play with.
1. I have no books which | can read.

2. Is there anybody who will help you with your spelling?

3. Don’t forget that she has a baby which she must take care of.

4. Have you got nothing that you want to say on this subject?

5. There was nothing that he could do except go home.

6. | have only a few minutes in which | can explain these words to you.

7. 1 have an examination which | must take soon, so I can’t go the theatre with you

Bapuant II

1. IlpouuTaiiTe U NepeBeINTE CJIOBA K TEKCTY.

complex — cioxxHbIi

to consume — noTpedIsITh
consumer — noTpeouTeNb
to realize —oco3HaTh
Smart — yMHbIi, YMHO
version — Bepcus

decade — nexkana, mecsr

to enhance — pacumpsiTh, yBeJIHYUBATH

top — Bepx, BepIIMHA




on top of DOS — «cBepxy>>, Ha ocHoBe JJOC

compatible — coBmecTUMBIi

with a click of a mouse — oguuM Ha)kaTEeM KHOIIKU MBIIITA
access — JOoCTyI

to allow — mo3BoisaTE

simultaneously — ogHoBpeMeHHO

to desire — xenaThb

2. [IpouTnTe U MEpeBeANTE TEKCT.
OPERATING SYSTEMS

When computers were first introduced in the 1940"s and 50"s, every program
written had to provide instructions that told the computer how to use devices such as
the printer, how to store information on a disk, as well as how to perform several other
tasks not necessarily related to the program. The additional program instructions for
working with hardware devices were very complex, and time-consuming.
Programmers soon realized it would be smarter to develop one program that could
control the computer's hardware, which others programs could have used when they
needed it. With that, the first operating system was born.

Today, operating systems control and manage the use of hardware devices such
as the printer or mouse. They also provide disk management by letting you store
information in files. The operating system also lets you run programs such as the basic
word processor. Lastly, the operating system provides several of its own commands
that help you to use the computer. DOS is the most commonly used PC operating
system.

DOS is an abbreviation for disk operating system. DOS was developed by, a
company named Microsoft. MS-DOS is an abbreviation for «Microsoft DOS>>.
When IBM first released the IBM PC in 1981, IBM licensed DOS from Microsoft for
use on the PC and called it PC-DOS. From the users perspective, PC-DOS and MS-
DOS are the same, each providing the same capabilities and commands. The version of
DOS release in 1981 was 1.0. Over the past decade, DOS has undergone several
changes. Each time the DOS developers release a new version, they increase the
version number.

Windows NT (new technology) is an operating system developed by Microsoft.
NT is an enhanced version of the popular Microsoft Windows 3.0, 3.1 programs. NT
requires a 386 or greater and 8 Mb of RAM. For the best NT performance, you have to
use a 486 with about
Mb or higher. Unlike the-Windows, which runs on top of DOS, Windows NT is an
operating system itself. However, NT is DOS compatible. The advantage of using NT
over Windows is that NT makes better use of the PC's memory management
capabilities. OS/2 is a PC operating system created by IBM. Like NT, OS/2 is DOS
compatible and provides a graphical user interface that lets you run programs with a
click of a mouse. Also like NT, OS/2 performs best when you are using a powerful
system.

Many IBM-based PCs are shipped with OS/2 preinstalled. UNIX is a multi-user
operating system that allows multiple users to access the system. Traditionally, UNIX
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was run on a larger mini computers to which users accessed the systems using
terminals and not PC's. UNIX

allowed each user to simultaneously run the programs they desired. Unlike NT and
0OS/2, UNIX is not DOS compatible. Most users would not purchase UNIX for their
own use. Windows 95 & 98 are the most popular user-oriented operating systems with
a friendly interface and

multitasking capabilities. The usage of Windows 95 and its enhanced version
Windows 98 is so simple that even little kids learn how to use it very quickly.
Windows 95 and 98 are DOS compatible, so all programs written for DOS may work
under the new operating system. Windows

95 requires 486 with 16 megabytes of RAM or Pentium 75-90 with 40 megabytes of
free hard disk space.

3. OTBeTHTE HA BONPOCHI.

1. What problems faced programmers in the 1940's and 1950's?

2. Why first programs were complex and timeconsuming?

3: What are the basic functions of operating system?

4. What does DOS abbreviation means? 5. What company developed the first version
of DOS operating system? For what purpose? Was the new operational system
successful?

6. What is the difference between the PC-DOS and MS-DOS?

7. What does the abbreviation NT stand for? Is it DOS-compatible? What are the basic
requirements for NT?

8. Who is the developer of OS/2?

9. What makes UNIX so different from the other operational systems?

10. What are the remarkable features of Windows 95?

4. BepHo ujiu He BepHO?

1. When computers were first introduced in 40's and 50's programmers had to write
programs to instruct CD-ROMSs, laser printers and scanners.

2. The operational system controls and manages the use of the hardware and the
memory usage.

3. There are no commands available in operating systems, only word processors.

4. Microsoft developed MS-DOS to compete with IBM's PC-DOS.

5. NT requires computers with 486 CPU and 16 M random access memory.

6. OS/2 is DOS compatible because it was developed by Microsoft.

7. Traditionally, UNIX was run by many users simultaneously

8. Windows 95 and Windows 98 are DOS compatible

and have very «friendly* and convenient interface.

S.IlepeBeauTe Ha pyccKuil fA3bIK, o0pamiasi BHUMaHue Ha pa3Hbie (Gopmbl
repyHAMS:

1. Watching football matches may be exciting enough, but of course it is more
exciting playing football. 2. She stopped coming to see us, and | wondered what
had happened to her. 3. Can you remember having seen the man before? 4. She
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was terrified of having to speak to anybody, and even more, of being spoken to.
5. He was on the point of leaving the club, as the porter stopped him. 6. After
being corrected by the teacher, the students' papers were returned to them.

6. B cienyomux npeajioKeHUsiX 3aMeHUTe MPUAATOYHbIE JONOJHUTEIbHbIE
repyHauem c¢ mpeaaorom of:

Obpasey: She thought she would go to the country for the week-end.
She thought of going to the country for the week-end.

1. | thought I would come and see you tomorrow. 2. | am thinking that I shall go
out to the country tomorrow to see my mother. 3. What do you think you will do
tomorrow? 4. | don't know now; | thought | would go to the zoo, but the weather
Is so bad that probably I shan't go. 5. | hear there are some English books at our
institute book-stall now. - So you are thinking that you will buy some, aren't you?
6. | thought I would work in the library this evening, but as you have come, |
won't go to the library.

KounrpouabHas padora
2 kypc 3 cemectp.

Bapuanr 1
1. CoBmecTHTE CJI0BA U CJIOBOCOYETAHMS U3 ABYX KOJOHOK:
Tem3sa to carry luggage
3nanue napiaamenta Buckingham palace
buner hand luggage
VYnakoseiBaTh Bemu the Thames
bpurtanckuit myseit the Houses of Parliament
Hectu Oarax to pack bags
Bbykunremckuii nBopert a ticket
Pyunas xmans the British Museum
JlocTonmpumeuaTtenbHocTr a wWindow seat
Mecto y okHa places of interest

2. JlomoIHUTeE NMpeNJI0KeHUs U TepeBeIuTe UX:
1. Great Britain consists of... parts.

2. The capital of Wales is... .

3. The official head of the United Kingdom is... .

3. OOpa3syiiTe OTpUIATEJbHYI0 M BONPOCHUTEJbHYI0 (OPMBI OT JTAHHOTO
NpeIJIoKeHUsI:
The Queen lives in Buckingham palace.

4. HUcnpaBbTe 0IMOKH, €CJIM TAKOBbIE HMEIOTCH:
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1. He doesn’t likes studying.

2. She drive a car very fast.

3. They have many friends.

4. After dinner he listens to the music or watch TV

Bapuanr 2
1. CoBMecTHTE CJIOBA H CJIOBOCOYETAHHUS U3 IBYX KOJIOHOK:
ITocamounsii Ouet passengers
Tpadansrapckas mioraib WestminsterAbbey
Perucrparus a window seat
Howmeppeiica a boarding card
BecrmuncrepckoeAb6barctBo  to be situated on
MecToBLIEHTpE TrafalgarSquare
PacrnonararbcsiHa flightnumber
[MTaccaxxupsr check-in desk
3naHuenapiaMeHTa the United Kingdom
CoenuaennoeKopoieBcTBo the Houses of Parliament

2. JlomoJiHUTE MpeJio:KeHusl U NepeBeuTe UxX:

1. The climate of Great Britain is ... .

2. The Houses ofParliament is famous for its big hour bell known as ... .
3. The capital of Northern Ireland is ... .

3. O0Opa3yiiTe OTPULATEJIbHYI0 H BONIPOCUTEJIbHYIO (POPMBI OT TAHHOTO
NpeIJI0KeH U :
He bought the ticket two days ago.

4. UcnpaBbTe OIUMOKH, €CJIM TAKOBbIC HMECIOTCH:
1. They didn’t visited their granny last week.

2. We maked many mistakes in the test.

3. When were you born?

4. Did you like the film? — No I not.

KonTposabsnas padora.
2 kypc 4 cemectp.

Bapuanr 1
1. CoBmecTHTE CJ10BA U3 JIeBOM KOJOHKH C X NePEBOIOM U3 NMPABOIi:
Circuit HOBPEXKICHHE
Conductor pasHuIa
Function COKpaIlaTh
Difference cHa0XaTb
Open 1eMb, KOHTYP
Short CpaBHHBATH C
Trouble Ha3HAYCHHE
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Toreduce IPOBOIHUK
Tosupply KOPOTKOE 3aMbIKaHHE
To compare with 00pbIB

. 3aKoHYHUTE NMPeITOKEHUS:
The circuit consists of ....

A voltage source supplies ....
A conductor connects...

. HanummreTpu@opmbIrjiaro/ion:

€at....covviiiiannnn. 14111 E RN
speak ...l (0] 0]S) 1 DR
WIIte  ooiiiiniiennne... gIVE i
make  ............... put

. PackpoiiTtecko0ku, mocraBuBriarojbiBPresentPerfect:
1. He...... (eat) all the cakes.

2. 1 ...... just (make) the bed.

3. She ...... already (write) a letter.

4. He ...... (open) the door.

Bapuant2
. CoBmecTHTE CJ10BA M3 JIeBOH KOJIOHKHM C X NePeBOIOM U3 NPABOM:
Meter MOJIOKUTEIIbHBIN
To connect IIKaJa
Battery KJIeMMa
Scale MIPUHUMATh BO BHUMaHUE
Readings Oarapes
Terminal OTPHUIATEIHHBIN
Positive U3MEPSTh
Negative MOKAa3aHUs Ha IIKaJe
Tomeasure COEJIMHSATh
To take into consideration U3MEPHUTEIILHBIHITPUOOP

. 3aKOHYNTE NPEeATOKCHUA:

The ohmmeter is used to measure ....
It consists of ....

The meter is connected in ....

. Hanumure Tpu ¢gopmMbl 171aroJ10B:

drink ... drive ...
sleep  oiiii find ...
take . talk ..o
clean ...l al

. Packpoiite cko0ku, mocTaBuB riaarosl B PresentPerfect:
1. We...... already (clean) the room.
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2.1 ... just (eat) two apples.
3.He ...... (find) his keys.
4. They ...... (take) photos of some places.

KonTposbHas pabora.
3 Kypc S cemecTtp.
Bapuanr |
1. OOpa3yiiTe OT TaHHBIX IJ1arojoB npuyacrtue |l u cocraBbTe ¢ HUMHM U €
AAaHHBIMH CYIHECTBUTC/IILHBIMHU CJI0OBOCOYECTAHMUA:
To show, to close, to translate, to cut, to ask, to send.
Article, letter, film, bread, window, question.

Bbi0epute moaxoasiimyo GopmMy npuyacTusi:
The girl (wash, washed) the floor is my sister.
The (losing, lost) book was found at last.
| picked up the pen (lying, lain) on the floor.
Translate the words (writing, written) on the blackboard.

e

w

PackpoiiTe cko0ku, ynorpeodJisisi riaaroibl B Present Participle or Perfect
Participle:

(to do) this task, he was thinking hard.

(to read) the story, she closed the book and put it on the shelf.

(to eat) all the potatoes, she drank a cup of tea.

(to sit) near the fire, he felt very warm.

~wn e

4. CpesaiiTe U3 IByX IMpeNJIOKeHUI 0JHO, HCTIOJIb3Ys npuyactue |.
IMpumep: Jim was playing tennis. He hurt his arm. — Jim hurt his arm playing tennis.
1. I was watching TV. I fell asleep. I ...... .
2. The man slipped. He was getting off the bus. The man .... .
3. | was walking home in the rain. I got wet. I .... .
4. Margaret was driving to work yesterday. She had an accident....
Bapuanr 1l

1. OOpa3yiiTe OT TaHHBIX IJ1arojoB npuyactue |l u cocraBbTe ¢ HUMM U €

AAHHBIMHU CYINECTBUTC/IbLHBIMHU C/JI0OBOCOYECTAHMUA:

To offer, to excite, to hear, to smoke, translate, to write.
Song, student, book, pen, text, cigarette.

2. BbiOepuTe moaxoasimyo ¢popMy Npu4acTus:

1. The girl (writing, written) on the blackboard is our best student.

2. The tasks (doing, done) by the students were easy.

3. The wall (surrounding, surrounded) the house was very high.

4. 1 will show you a picture (painting, painted) by my brother.

3. Packpoiite cko0ku, ynorpeodasis riaarosasl B Present Participle or Perfect
Participle:
1. (to eat) all the potatoes, she drank a cup of tea.
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2. (to sit) near the fire, he felt very warm.
3. (to do) this task, he was thinking hard.
4. (to read) the story, she closed the book and put it on the shelf.

4. CaeJsiaiiTe U3 AByX IpeNJIOKeHUI 0HO, HCIOJIb3Ys npuyactue |.
Ipumep: Jim was playing tennis. He hurt his arm. — Jim hurt his arm playing tennis.
1. Two firemen were overcome by smoke. They were trying to put up the fire.

2. Margaret was driving to work yesterday. She had an accident....
3. I was walking home in the rain. I got wet. I .... .
4. The man slipped. He was getting off the bus. The man .... .

KontposasHnasi padora.
3 kypc 6 cemecTp.
Bapuanr 1

1. CoBmecTHTE CJIOBA M3 JIEBOH KOJOHKH C UX nmepesoaomM u3 leaBOﬁ:
Telecommunication 3Byuarb

To image 0OMOTOYHASTIPOBOJIOKA
To print npoOuBarh, nepPopupoBaTh
To punch JTAIBHSAS CBA3b

To sound 4acTOTa KaJpoB

Tape TenerpadHas JeHTa
Terminal revararb

Physical event n300pakarhb

Image frequency KJIEMMa, BBIBOT

Sound energy KOHEUHASICTAHITUS
Taping wire buszngeckoe coObITHE
Terminal station 3BYKOBasi SHEPTHUS

2. CoBMecTHTE onpeaeeHusl U3 JIeBOH KOJOHKH ¢ MX TEPMUHAMHU U3 MPABOIi:

* An input or output device connected to a computer TELEMETER
* A printing telegraph system TERMINAL
* A device that records physical events at a certain distance TELETYPE

3. IMocraBbTe YacTuily t0 rae 3T0 HEOOXOAUMO:
1. She agreed ... (marry) her friend.
2. Let me ... (introduce) my sister.
3. She made him ... (smile).
4. I want you ... (stop) smoking.

4, U3meHnTe MeCTOMMEHHE B OﬁIIIeM majgaeke Ha MECTOMMECHUE B 00bEeKTHOM
nmajgexe:
1. 1 want (he) to go to the grocer's.
2. He would like (1) to buy some cheese.
3. He made (we) do the work again.
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4. | want (you) to be my friend.

Bapuanr 2
. CoBMecTHTE CJI0BA U3 JIEBOIl KOJIOHKH C UX NEPEBOIOM M3 NIPABOIi:
To receive BBIOWpaTh, N30UpaTh
To mix HACTpauBaTh
To reject JIOCTUTATh, TTOTYYaTh
To remain CMEITNBaTh
To select CMECHTEJIbHAS JTaMITa
To tune TOYHOCTB BOCITPOU3BEACHUS
To achieve OCTaBaThCs
Fidelity OTBEpraTh
Sensitivity CMECHTEIIbHAS JIaMIIa
Mixing valve YYBCTBUTEIHHOCTD
Tuned aerial IPOMEKYTOYHAS YaCTOTa

Intermediate frequency HacTpoeHHas aHTCHHA

. CoBMecTHTE OnpeiesIeHUs U3 JIeBOH KOJOHKHU ¢ MX TEPMUHAMH M3 NIPABOM:
TELEMETER TELECOMMUNICATION TERMINAL

* A telegraphic or telephonic communication of signals, images
* An input or output device connected to a computer
A device that records physical events at a certain distance

. Bbl0epure He00X0aUMYI0 (POPMY NPUYACTHSA:

1. The ... texts were on the table(correcting/corrected).

2. The work ... by him is very important (beginning /begun).

3. The boy ... on the blackboard is our monitor (written/writing).
4. The code widely ... is called Morse code (used/ using).

. I3MeHHNTE MeCTOMMEHHE B OﬁllleM majgexe Ha MECTOMMECHUEC B 00bLEeKTHOM
majaeixe:

1. My parents want (I) not to smoke.

2. 1 would like (you) to offer Pete your help.

3. We expect (he) to do it.

4. He would like (she) to play with him.

KonTposbsHnas padora.

4 kypc 7 cemectp.
. Bbl0epuTe npaBuIbLHYI0 GOPMY NPUYACTHSA:
1. Who is that girl ... Coca Cola (drunk, drinking)?
2. ... English books I always use a dictionary (having read, reading).
3. Some stamps ... by him are very interesting (collecting, collected).
4. Deeply ... I left him (shocking, shocked).

. Bbi0epuTe npaBujibHY0 ¢GopMy HHPUHUTHBA:
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1. The child wanted ... seriously (to take, to be taken).

2. It’s very difficult ... a car in a big city (to be driven, to drive).
3. They were happy ... in our expedition (to take part, take part).
4. I’m happy ... you (to be seen, to see).

3. ITocTaBbTe r1e HY:KHO, YacTUIly 10 nepea HHPUHUTHBOM
1. I think you should....apologize to the teacher.

Make him ....speak louder.

Help me ....carry this bag.

[ must ....go to the country.

Let me ....help you with your work.

bk w

4. 3akoHYMTE NMPeNI0KeHHUs, YIIOTPeOIsisi MPUYACTHSA
1. We continued our way (not to know about the danger).
2. (To get the necessary information) we sent them a letter .
3. (To examine his wounds) the doctor said he would get better soon.
4. (To ask the price) the customer pointed to an armchair standing in the corner.

Bapuant 2
1. BoiOepuTe NpaBWIbLHYIO opMy NPUYACTHUS
1. Iread several books ... into Russian (translating, translated).
2. The work ... by him is very important (beginning, begun).
3. Having ... the work she went home (doing, done).
4. ... anewspaper she fell asleep (reading, read).

2. BbiOepuTe npaBWIbHYI0 GopMy HH(PUHUTHBA:
1. The letter was ... at once (to be sent, to send).
2. Could you give me a book ...? (to read, to be reading).
3. Toreadis ... alot (know, to know).
4. Mother was too tired ... supper (to be cooked, to cook).

3. HocraBbTe e HY:KHO, YacTuy t0 nepea MHGPUHUTHBOM
1. T do not know what ....do.

2. He was seen...leave the house.

3. We had better....stop to rest a little.

4. It cannot ....be done.

5. She was made ... repeat the song.

4. 3akoHYHTE NMPeNJI0KEeHHS, YIOTPeOJIsi NpU4acTus

1. (To ask the price) the customer pointed to an armchair standing in the corner.
2. (To walk up and down the room) he thought about problem.

3. (Not to receive an answer) she decided to write again.

4. (To examine his wounds) the doctor said he would get better soon.
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KonTpoabnasi pabora.
4 kypc 8 cemecTp
Bapuanr 1

1. CoBmecTHTE CJI0BA U3 ABYX KOJIOHOK:
Dataprocessing gocTyIHbIHI
Toconvert 3aBepiiaTh, 3aKaHYMBaTh
Toaccomplish ympaBnsite, perymupoBaTh
Tohouse mpeoOpa3oBHIBATH
Toimprove xpaHuTh, 3aIIOMUHATh
Tocontrol pecypc, cpeactso
Tostore yny4marh
Storage momerniarh, pa3mMeniaTh
Resource obopyaoBanue
Facilities oOpa®oTka JaHHBIX
Equipment nmamsTh, 3anIOMHHAIOIIEE YCTPOHCTBO
Available mpucnoco6nenus

2. BeraBbTe ciioBa u3 NpeabIAymero yunpa;kHeHus B lipoIryCcKHu 1o
CMBICJTY:

1. Processing is a series of actions or operations that inputs into

outputs.

There are four types of recourses: people, materials and :

3. are required to house the computer equipment, people and
materials.

N

Bri0epure npaBuibHY0 GOpMY repyHIus Wil HHPUHUATHBA:
. My shoes need (cleaning/to clean).
. His father asked him to give (to smoke/smoking).
.| enjoyed their (singing/to sing).
. She wants (going/to go) home.

A WN R ®

BceraBbTe yacTuny torge HeoOXoauMO:
She didn’t let her mother ... go away.

[ saw him ... enter the room.

They wanted ... cross the river.

May I ...use your telephone?

PO E A

Bapuanr 2
1. CoBmecTHTE €JI0BA M3 ABYX KOJIOHOK:
DisplaymocienoBaTensHOCTh
ManneruMerommn cMBICT
Sequenceaucriel, yCTporucTBO
Successivelycrioco6, oopas
Datastoragehierarchyzamnuce, peructparst
ToentermocnenoBareibHO
ComprehensivegroupingsayieMeHT, COCTaBHas 4acTh
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Meaningfuluepapxust 3anomMuHanus HHGOPMAITUU
ItemBxoauThH, BBOOUTH

RecordynuBepcanbabie 00pa3oBaHUs

Fileba3a maHHbIX

Setdaiin, 3aHoCUTH B (aitn

Databasenabop, MHOXECTBO, COBOKYITHOCTh

2. BeraBbTe ci10Ba M3 NpeabIAYLIEro YNpPakHeHUsl B MPOMYCKH M0 CMbICJIY:

1. Data are organized and stored in

2. These groupings are called a

3. Outputting is the process of producing useful information: a printed or
visual

3. BbiOepuTe npaBWIbHYIO (p)OPMY repyHaus Wi HHPUHUTUBA:
1. The box is too heavy (carrying/to carry).
2. Mary keeps (talking/to talk) about her problems.
3. I’'mnot in a hurry. I don’t mind (to wait/waiting).
4. 1t was a nice day, so we decided (to go/going) for a walk.

4. BcraBbTeuacTunytormeneo0xoqumo:
1. The police ordered the man ... stop.
2. She asked him ... leave.
3. You make me ... smile.
4. You'd better ...go home.
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Cnucok JiuTeparyphbl:

OcHOBHbIE MCTOYHHUKH:

1.

[aparynsa, C.M. Awnrnumiickuii s3bIKk B chepe HHYOPMALMOHHBIX CHCTEM U
texaonorui=English for Information Systems and Technology : yueOnuk / I'aparyss
C.1. — Mocksa : KnoPyc, 2018. — 421 c.

INomy6eB, A.Il. AHTIMICKUIA S3BIK IS BCEX CIENMAIbHOCTEH. : yueOHMK / ['oryOeB
A.IL., bamtok H.B., CmupnoBa .b. — Mocksa : KnoPyc, 2020. — 385 ¢. — (CIIO).
Kapnoa, T.A. English for Colleges = Amnrmuiickuii s3bIK IS KOJUICIHKEH.
[Ipaktukym + ellpunoxenue : TecThl. : ydyeOHO-MpakTUuueckoe nocobue / Kapriosa
T.A., Bockosckas A.C., Menpanuyk M.B. — Mocksa : KnoPyc, 2020. — 286 c. —
(CITO).

Kykymkun, H.B. Aurnuiickuii s3Ik U1t KOJUTeKeH : yueoHoe mocooue / Kykymkux
H.B. — Mocksa : Pycaiinc, 2018. — 296 c.

PanoBens, B.A. AHIIIMHCKUI $3bIK B NPOrPaMMHUPOBAHMM U HMH(POPMALMOHHBIX
cuctemax. : yueoHoe nocodue / Pagosens B.A. — Mocksa : KnoPyc, 2019. — 239 c.
— (CIIO)

I[OHOJIHI/ITG.HBHLIC HCTOYHHUKMU:

1.

A

5.
6.

ArabekssH W. II. AHrauickuil si3bIK JJIsI TEXHUYECKHUX BY30B: yueOHOe mocoOue,
PoctoB u//1: ®enuxc, 2017. — 347c.

[Nomuuerackuit FO.B. 'pammatika: COopHUK ynpaxHeHwHid.- 6-e u3z.,-CI106, 2017.
JIyroBas A.JI. AHITIMUACKUY S3BIK JJISI CTYJ€HTOB DHEPrEeTUYECKUX CIIEIIUATIbHOCTEN:
VYueb. [Tocobue.-4-¢ uzn.- «3narenbckuii neHTp «Akagemus», 2017-150 c.

JIyroBass A.JI. CoBpeMeHHbIE CpelcTBa CBs3M: YueO.mocoOue Mo aHTIUHUCKOMY
s361Ky/ A JIL. JIyroBas.-2-u3a., ucnp.-M.: Beicir.mk., 2016.-213 c.

Elementary students book. Face2face. Cambridge University Press, 2015.

Raymond Murphy. English Grammar in Use.Cambridge University Press, 2015

HNuTepHeT- pecypcsl:
http://education.com

https://resh.edu.ru/

www.britishcouncil.org/learnenglish

http://lessons.study.ru

https://elearning.academia-moscow.ru/personal/courses/

http://www.lyricstraining
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Penensusa
Ha KOMIUIEKT KOHTPOJIbHO-OLICHOUHBIX CPEICTB
npenojaasaress CeparokoBoi H.A.
o AucuMIuInHe « THOCTpaHHBIN SI3BIK

1o cnenuanbHocTy 27.02.05 CucteMsl U CcpeACcTBa AUCIETYEPCKOTO YIPABICHUS

Kowmrmiekt koHTpObHO-01IeHOUHBIX cpeAcTB (KOC) mo yueOHOM nucnuruinHe
«HOCTpaHHBI  A3BIK»  COOTBETCTBYET  DenepalbHOMY  TOCYJIapCTBEHHOMY
oOpazoBarenbHOMy  ctaHgapty (@I'OC) 1o  choenuaibHOCTH — CPEIHEro
npodeccuonanbHoro oopazoBanus 27.02.05 Cucrembl U CpeACTBa JUCIIETUYESPCKOTO
yIpaBJICHUS.

3agaua panHoro koMmiuiekta KOC - OneHWTh 3HAHUS, YMEHUS, HABBIKU U
KOMITETCHIIUH Ha Pa3HbIX CTAUSAX OOYUYEHHS CTYJCHTOB.

KoMmiekT KOHTPOJIbHO-OLIEHOYHBIX CPEACTB COJEPKHUT MACHOPT, B KOTOPOM
yKa3aHbl TpeOOBaHUA K pe3yJibTaTaM OCBOCHUS Y4YEOHOW IUCHUIUIMHBI (3HAHUA,
yMeHUs, OOIMe KOMIIETCHIIMM), pPe3yiabTarbl 00ydeHHs (OCBOCHHBIE YMEHHS,
YCBOCHHBIC 3HAHUS), OCHOBHBIC MMOKA3aTEIU OIIEHKHU Pe3ylbTaToB, POPMbI U METObI
OLICHMBAHUS, pAaCHpeeICHUEe OICHUBAHUS PE3yJAbTaTOB OOYy4YEeHHS IO BHUIAM
KOHTPOJISA, & TAKXKE 3aJJaHUsl IJIs1 TEKYILETO U MPOMEKYTOYHOTO KOHTPOJIS.

Jannbiii komiuiekt KOC Takke conepKUT Marepuail K KOHTPOJIbHBIM padoTaM U
mubdepeHIMpOBaHHOMY 3a4e€Ty Ha AaHIJIMMCKOM W HEMEIIKOM SI3bIKaX, KOTOPBIN
BKJIFOYAET B Ce0s TpaMMaTUUYeCKUW Marepuali, HEOOXOIUMBIM [Jii BBIMOJHEHUS
3aJlaHusl IPU CAaMOCTOATENLHOM padoTe.

Cnucok OCHOBHOM U JOTOJIHUTEIBHOM JINTEPATYPhl COOTBETCTBYET CTAHIAPTY.

OT'AIIOY «benropoackuii UHAYCTPUATbHBINA KOJIIEI
IPENOAABATENb NHOCTPAHHOIO SI3bIKA Cepuxosa 10.B.
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